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(1) Solveg+5 =17 (2) Solve w —9= 46
(3) Solved—12 = 25 (4)e+4 =9 Solve
d=.cooeunn. €= ieeiiiiianns
solve (1) answers: (1) 2 (2) 55 (3) 37 (4)5 (5) 11 (6)34 (7)9 (8)6
(1) Solveg+5 =17 (2) Solve w —9= 46
(3) Solved—12 = 25 (4)e+4 =9 Solve
d=.coveunnn. €= ieeiiiiinnns
E®R0 solve (1) SRS Learning Limited




practise-learn

solve (1)

timelypractice.com

(5) Solvea—3 =38 (6) Solve x —13 = 21

A= e, L= oiiirannns
(7) Solve b+8 = 17 (8) Solvev+3 =9

b= V= iriiiuinnnnns
(5) Solvea—3 =38 (6) Solve x —13 = 21

A= ioreannnn, L= oo
(7)  Solve b+8 = 17 (8) Solvev+3 =9

b= V= ieiiunnnnns
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